AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

and the second s	es of tue tom	vest Unit Cha	rge During a	Political
, Federal Ca	indidates Mu	st Sign The C	Certification ()n Page 3
在100mg的最多是100mg。 150		rroll, 1A	Date: 10/01	/2019
eling				
f:	self		The state of the s	a legally
•				
			· · · · · · · · · · · · · · · · · · ·	······································
1 on: Novemb	er 5, 2019		- The second	
			- Stronger and A. President A. A. President	
Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
6 am-6 pm	Mon & Tues	ROS	15	2 days
	15 :15-se	c. commercial	s @ \$4.50/eac	h = \$67.50
				· · · · · · · · · · · · · · · · · · ·
	eling f: my e of the Carroll i on: November station time as the control of the co	eling myself e of the of: Carroll Community Sc ion: November 5, 2019 station time as follows: Time of Day, Rotation or Package 6 am-6 pm Mon & Tues	eling myself cof the cof: Carroll Community School District don: November 5, 2019 station time as follows: Time of Day, Rotation or Package 6 am-6 pm Mon & Tues ROS	eling myself cofthe of: Carroll Community School District Board of Edu don: November 5, 2019 station time as follows: Time of Day, Rotation or Package Days Class Times per Week

NAB Form PB-17 Candidates		
For programming that, in whole or national importance," list the matte	in part, "communicates a message rars below:	elating to any political matter of
	1	
I represent that the payment for the	above described broadcast time has	been furnished by:
myself		
and you are authorized to announce I represent that this person or entity committee/organization of the legal! The pare of the transvers of the correlation.	is either a legally qualified candidat y qualified candidate.	or entity. e or an authorized
The name of the treasurer of the can	didate's authorized committee is:	
This station has disclosed to me its p and discount, promotional and other	political advertising policies, includi sales practices (not applicable to fe	ng: applicable classes and rates; deral candidates).
THIS STATION DOES NOT DIS OF RACE OR ETHNICITY IN TH	CRIMINATE OR PERMIT DISC HE PLACEMENT OF ADVERTISE	RIMINATION ON THE BASIS ING.
To Be Signed By C × りりりりり	Signature	d Committee
To Be Signed	l By Station Represen	tative
Accepted	Accepted in Part	Rejected
Yhim Hackett	Kim Hackett	General Manager
Signature	Printed Name	Title

CANDIDATE CERTIFICATION

In Order For Federal Candidates to Receive The Lowest Unit Charge During a Political Window, the Following Certification is Required:

I, _	Onica Ulve				
to be	ne or rederal de e broadcast (ir	andidate or au whole or in p	thorized committe art) pursuant to th	e) hereby certi is agreement:	fy that the programming
	XXX d	oes	☐ does n	ot	
refer prog	to an opposing that	ng candidate (c does refer to a	heck applicable be in opposing candid	ox). I further colate:	ertify that for the
(che	ck applicable	box)			
XXX	the radio proidentifies the approved the	candidate, the	ntains a personal a	udio statement tht, and that the	by the candidate that candidate has
	image of the displayed pri	candidate for a nted statement t, and that the o	a duration of at lea t identifying the ca	st four seconds andidate, that th	hotograph or similar s, and a simultaneously the candidate approved authorized committee
ν.	dunk		₿		
		signature o	of candidate or author	ized committee	
·	ONICA WI	VELING printed na	nme		9 70 19 date

CARROLL BROADCASTING COMPANY PO BOX #886 1119 EAST PLAZA DRIVE

CARROLL, IA 51401

Order #:

1687-00002

Description:

KKRL /: 15 ROS SCHEDULE

Date Entered:

10/22/2019

P.O.#:

Salesperson:

Political, Local Direct

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date

ONICA ULVELING FOR CCSD BOARD OF EDUCATION 2617 SKYLINE DRIVE CARROLL, IA 51401

On-Air Schedule

	Start Date	End Date Station	Scheduled Time/Event	Repeated	Length	Qty	Rate	<u>Total</u>	M	<u>Tu</u>	W	Th	F	<u>Sa</u>	<u>Su</u>	
1	11/4/2019	11/4/2019 KKRL	06:00:00a to 06:00:00p	CUSTOM	:15	8	4.50	36.00	Y	N	Ν	Ν	N	N	N	
	11/4/2019	11/4/2019				8	4.50	36.00	8	0	0	0	0	0	0	
2	11/5/2019	11/5/2019 KKRL	06:00:00a to 06:00:00p	CUSTOM	:15	7	4.50	31.50	N	Y	N	N	N	N	N	
	11/5/2019	11/5/2019				7	4.50	31.50	a	7	0	0	0	Ð	0	

Order Start Date: 11/4/2019

Order End Date: 11/5/2019

Spots: 15

Total Charges:

\$67.50

Projected Calendar Month/End-Of-Schedule Billing Totals for ONICA ULVELING FOR CCSD BOARD OF EDUCATION / 1687-00002:

Spot Count

<u>Net Billing</u>

November 2019

15

\$67.50

Confirmed & Accepted for CARROLL BROADCASTING COMPANY BACCEPTED for ONICA ULVELING FOR CCSD BOARD OF EDUCATION By: